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O ex=x|clete|exe|e=¢le>¢
| if e then €’ else ¢” | A\z.e | e ¢
|let z=cine' | let recz 2’ =ein ¢
| (e,e’) | £st( )e | snd( )e
[(e)[pe

(p 0000000 D0OUDOOO0ODDOOOODOUDOOOOODDOO)
D000 (0OO0D):
ece 0000000 DDOO(MOOUDOODOO)
e, (00DD000D)000000000000 ;000 (apply) 000
o (\z.z+1)(2%3)0070000
let O (let z =e in¢€’)
e x=e0000000000000 ¢ 000000
e (Mze)e00DT0OUDOOO
e O:letz=1+2inz*x2+1=7)
let rec 0 (let rec fxz =eine')
e /000 fO00UDOODO(OUDOO)O

oO00o0ooO0: 000100000000 000oO000oDobo00oooooDoDOocCcoOg fordO whiled O
gbooooboooobobooboobooboooogoboo
oooooo:



(let x =1 inx +x) +50
=> 7
fun x > x + 1
==> (00000O0O0O0)
let £ = (fun x -> x + 1) in £ (f 3)

==> 5
(fun £ > f (f 3)) (fun x -> x + 1)
==> 5
(fun £ -> fun x > £ (f x)) (fun y >y + 1) 3
==> 5

let x=5 in let f=(fun y->x+y) in let x=10 in (f 20)
==> (00000000O0O0O0O0O00)

let x=5 in let f=(fun y->x+y) in let x=10 in (f 20)
==> (00000000000000)
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gooobobobood
Oe fu=--]|(ef)]£fst( )e|snd()e

O000OO00O(,f)0 ed fO0000O0 n,»,000 (0O00O00) 000000000 COOOOO(@ODO 200
O000000CO00 struct 00 20000000000000000000OO00O0O)
fst()eO snd( )e0000D0O0O0OODO 100 2000000

o (14+2,3%4)=(3,12)
o fst(()1+2,3%x4)=3
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4 0O
Olet0000D00000:

let x 1 in

let y = 2 in
+

Ty

let £ = (fun x -> x + 1) in
f (f 3)

(let x =1 in
X + x)

+ 50



(fun x —> if x 1 then 2 else 3) 1

(fun x —> if x 1 then 2 else 3) 10

gbooobOoboooobooon

let x=5 in
(let f=(fun y->x+y) in
let x=10 in
(f 20) + x * 2)

+ x *x 3

let rec f x =
if x=0 then 1
else x * £ (x-1)) in

(f 10)
oooooooooooo
let £ = (fun x -> fun y -> x + y) in

£ 35

let £ = (fun x -> fun y -> x + y) in
(f 3) 5

let £ = (fun x -> fun y -> x + y) in
let g =f 3 in
(g 5) + (g M

(fun £ > £ (£ 3)) (fun x -> x + 1)

(fun £ -> fun x > f (£ x)) (funy >y + 1) 3
ooooooooag
let £ = fun x -> (print x; 2) in

(funy >y +y+y) (£ 1)

let £ = fun x -> (print x; 2) in
(funy > (y D)+ D+ )£

let £ = fun x -> (print 1; 5) in
let
f

g = fun x -> (print 2; 7) in
g
OO0 (Co)ooooooo

(1,2)

fst (1,true)



fst (snd (1, (true,3)))
(fun x -> fun y > ((x,y),(y,x))) 10 true

(fun x -> (fst x) ((snd x) 10))
((fun z > z * 3), (fun y -> y + 2))
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